2014 Road Improvement Program - Tabulation of Proposals

County: COOK Municipality or Road Section: Estimate: \$2,506,446		Date: March 27, 2014 Time: 11:00AM Appropriation \$: Attended By: Not Applicable		and Address of idders	23343 S	ler Const., LLC S Ridge Road od, IL 60421	6160 Eas	ktop Co. Inc. If Avenue e, IL 60525	6525 W. 9	pard Asphalt Inc. 199th Street, dge, IL 60415	1488 S. I	ruction, Inc. Broadway, 'y, IL 60416	13769 M	ction Corporation ain Street . IL 60439	P.O. 1	o Const. Co. Box 156 IL 60434
Proposal Guarantee			Approve	ed Engineer's												
Terms				timate												
1			1	T							1				1	
Item #	Item	Quantity Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
1 PORTLANI	D CEMENT CONCRETE SIDEWALK 5 INCH	25200 s.f.	\$4.25	\$107,100.00	\$4.00	\$100,800.00	\$3.95	\$99,540.00	\$4.00	\$100,800.00	\$4.30	\$108,360.00	\$5.00	\$126,000.00	\$5.00	\$126,000.00
	BLE WARNINGS	1184 s.f.	\$27.00	\$31,968.00	\$25.00	\$29,600.00	\$23.00	\$27,232.00	\$24.00	\$28,416.00	\$26.40	\$31,257.60	\$27.50	\$32,560.00	\$28.00	\$33,152.00
3 SIDEWALK		23950 s.f.	\$1.25	\$29,937.50	\$1.75	\$41,912.50		\$33,530.00	\$0.80	\$19,160.00	\$1.25	\$29,937.50	\$1.50	\$35,925.00	\$2.50	\$59,875.00
	ATION CONCRETE CURB AND GUTTER, TYPE M-2.12	9520 l.f.	\$16.00	\$152,320.00	\$18.00	\$171,360.00	\$14.55	\$138,516.00	\$14.00	\$133,280.00	\$16.23	\$154,509.60	\$15.00	\$142,800.00	\$17.00	\$161,840.00
5 COMBINA	ATION CONCRETE CURB AND GUTTER, TYPE B-6.12	510 l.f.	\$17.50	\$8,925.00	\$18.00	\$9,180.00		\$7,650.00		\$8,032.50	\$19.87	\$10,133.70	\$20.00	\$10,200.00	\$23.00	\$11,730.00
	ATION CURB AND GUTTER REMOVAL	10030 l.f.	\$6.75	\$67,702.50	\$6.00	\$60,180.00	\$3.20	\$32,096.00	\$6.75	\$67,702.50	\$7.00	\$70,210.00	\$4.50	\$45,135.00	\$5.40	\$54,162.00
	TE SLAB RAISING	500 s.f.	\$3.00	\$1,500.00	\$7.00	\$3,500.00	\$2.65	\$1,325.00		\$1,125.00	\$6.00	\$3,000.00	\$3.05	\$1,525.00	\$3.00	\$1,500.00
	TE CURB & GUTTER REPAIR	2604 l.f.	\$29.00	\$75,516.00	\$32.00	\$83,328.00	\$30.15	\$78,510.60	\$30.15	\$78,510.60	\$33.00	\$85,932.00	\$30.15	\$78,510.60	\$31.00	\$80,724.00
	RIVEWAY REMOVAL & REPLACEMENT, 6"	350 s.f.	\$6.50	\$2,275.00	\$7.00	\$2,450.00	\$6.50	\$2,275.00		\$2,275.00	\$6.45	\$2,257.50	\$63.00	\$22,050.00	\$7.30	\$2,555.00
	RIVEWAY REMOVAL & REPLACEMENT, 3"	144 s.y.	\$40.00	\$5,760.00	\$34.00	\$4,896.00	\$85.00	\$12,240.00	\$35.00	\$5,040.00	\$35.00	\$5,040.00	\$45.00	\$6,480.00	\$50.00	\$7,200.00
	RIVEWAY REMOVAL & REPLACEMENT	50 s.f.	\$8.00	\$400.00	\$20.00	\$1,000.00	\$8.00	\$400.00	\$12.00	\$600.00	\$25.00	\$1,250.00	\$50.00	\$2,500.00	\$20.00	\$1,000.00
	D COLORED PCC DRIVEWAY REMOVAL & REPLACEM	40 s.f.	\$20.00	\$800.00	\$50.00	\$2,000.00	\$22.00	\$880.00	\$25.00	\$1,000.00	\$33.00	\$1,320.00	\$65.00	\$2,600.00	\$62.50	\$2,500.00
	D COLORED HMA DRIVEWAY REMOVAL & REPLACEM	5 s.y.	\$200.00	\$1,000.00	\$400.00	\$2,000.00	\$700.00	\$3,500.00	\$150.00	\$750.00	\$165.00	\$825.00		\$500.00	\$500.00	\$2,500.00
14 WASHOUT		3 ea.	\$900.00	\$2,700.00	\$500.00	\$1,500.00	\$250.00	\$750.00	\$400.00	\$1,200.00	\$165.00	\$495.00	\$2,500.00	\$7,500.00	\$500.00	\$1,500.00
15 EARTH EXC	ASPHALT SURFACE REMOVAL, 4 1/2"	2080 c.y. 74200 s.v.	\$40.00 \$3.60	\$83,200.00 \$267,120.00	\$30.00 \$3.25	\$62,400.00 \$241,150.00	\$3.89 \$3.75	\$8,091.20 \$278,250.00		\$41,600.00 \$259,700.00	\$20.00 \$2.30	\$41,600.00 \$170,660.00	\$30.00 \$5.15	\$62,400.00 \$382,130.00	\$10.00 \$3.30	\$20,800.00 \$244,860.00
	DUS MATERIALS (PRIME COAT)	74200 s.y. 7440 gal.	\$0.75		\$0.01	\$241,150.00	\$3.75	\$278,230.00		\$259,700.00	\$2.30	\$170,860.00	\$5.15	\$37,200.00	\$0.01	\$244,860.00
	PATCHES- VARIOUS TYPES	14 ton	\$110.00	\$5,580.00 \$1,540.00	\$105.00	\$1,470.00	\$150.00	\$2,100.00	\$135.00	\$1,890.00	\$98.00	\$1,372.00	\$200.00	\$2,800.00	\$225.00	\$3,150.00
	PATCHES- VARIOUS TYPES- OFFSITE	1500 ton	\$135.00	\$202,500.00	\$103.00	\$1,470.00	\$150.00	\$225,000.00	\$135.00	\$202,500.00	\$130.00	\$195,000.00	\$250.00	\$375,000.00	\$140.00	\$210,000.00
	FATE BASE COURSE, TYPE B	32 ton	\$20.00	\$640.00	\$70.00	\$2,240.00	\$20.00	\$640.00	\$35.00	\$1,120.00	\$130.00	\$448.00	\$50.00	\$1,600.00	\$50.00	\$1,600.00
	TION OF BASE	10680 s.y.	\$1.60	\$17,088.00	\$1.00	\$10,680.00	\$3.50	\$37,380.00		\$16,020.00	\$0.91	\$9,718.80	\$3.00	\$32,040.00	\$2.50	\$26,700.00
	ATE BASE REPAIR	3400 ton	\$15.50	\$52,700.00	\$18.00	\$61,200.00	\$1.68	\$5,712.00	\$15.00	\$51,000.00	\$9.00	\$30,600.00	\$25.00	\$85,000.00	\$15.00	\$51,000.00
	FATE FOR TEMPORARY ACCESS	240 ton	\$27.50	\$6,600.00	\$25.00		\$25.00	\$6,000.00	\$15.00	\$3,600.00	\$20.00	\$4,800.00	\$25.00	\$6,000.00	\$60.00	\$14,400.00
	BACKFILL, CA-6	36 ton	\$22.00	\$792.00	\$20.00	\$720.00	\$26.00	\$936.00	\$35.00	\$1,260.00	\$15.00	\$540.00	\$26.00	\$936.00	\$25.00	\$900.00
	BACKFILL, CA-7	86 ton	\$25.00	\$2,150.00	\$24.00	\$2,064.00	\$38.00	\$3,268.00	\$40.00	\$3,440.00	\$20.00	\$1,720.00	\$38.00	\$3,268.00	\$30.00	\$2,580.00
	ASPHALT BINDER COURSE, IL-19.0, N50	12880 ton	\$57.00	\$734,160.00	\$54.00	\$695,520.00	\$66.00	\$850,080.00	\$61.00	\$785,680.00	\$58.20	\$749,616.00	\$67.50	\$869,400.00	\$55.00	\$708,400.00
	ASPHALT SURFACE COURSE, MIX "C", N50	8480 ton	\$64.00	\$542,720.00	\$60.00	\$508,800.00	\$72.00	\$610,560.00	\$73.00	\$619,040.00	\$61.30	\$519,824.00	\$71.00	\$602,080.00	\$58.00	\$491,840.00
	, CLASS 1A (& TOPSOIL)	370 s.y.	\$4.00	\$1,480.00	\$10.00	\$3,700.00	\$5.00	\$1,850.00		\$1,850.00	\$6.00	\$2,220.00	\$5.00	\$1,850.00	\$10.75	\$3,977.50
	CONTROL BLANKET	370 s.y.	\$1.75		\$1.00			\$1,110.00		\$555.00	\$1.66	\$614.20	\$5.00	\$1,850.00	\$0.75	\$277.50
30 SODDING	G (& TOPSOIL)	1880 s.y.	\$8.50	\$15,980.00	\$15.00	\$28,200.00	\$8.00	\$15,040.00	\$8.50	\$15,980.00	\$5.00	\$9,400.00	\$10.00	\$18,800.00	\$18.00	\$33,840.00
31 INLET FILTE		139 ea.	\$140.00	\$19,460.00	\$50.00	\$6,950.00		\$14,595.00		\$14,595.00	\$155.00	\$21,545.00	\$105.00	\$14,595.00	\$100.00	\$13,900.00
32 PIPE UND	ERDRAINS FABRIC LINED TRENCH, 6"	890 l.f.	\$15.25	\$13,572.50	\$17.00	\$15,130.00	\$19.50	\$17,355.00	\$19.40	\$17,266.00	\$37.00	\$32,930.00	\$19.40	\$17,266.00	\$25.00	\$22,250.00
33 CATCH BA	ASINS, TYPE C, FRAME & LID	2 ea.	\$950.00	\$1,900.00	\$1,050.00	\$2,100.00		\$2,110.00		\$2,110.00	\$975.00	\$1,950.00		\$2,110.00	\$1,200.00	\$2,400.00
	AND LIDS TO BE ADJUSTED (STEEL RING)	2 ea.	\$230.00	\$460.00	\$230.00	\$460.00		\$460.00		\$400.00		\$266.00		\$460.00	\$250.00	\$500.00
	ES TO BE ADJUSTED	64 ea.	\$315.00	\$20,160.00	\$300.00			\$20,160.00		\$20,096.00		\$20,480.00		\$20,096.00	\$350.00	\$22,400.00
36 MANHOLI	ES TO BE RECONSTRUCTED, BLOCK	4 ea.	\$625.00	\$2,500.00	\$675.00	\$2,700.00		\$2,500.00		\$2,480.00		\$3,200.00		\$2,480.00	\$850.00	\$3,400.00
	ES TO BE RECONSTRUCTED, CONE SECTION	1 ea.	\$750.00		\$800.00			\$700.00		\$685.00	\$800.00	\$800.00		\$685.00	\$1,000.00	\$1,000.00
	ES TO BE RECONSTRUCTED, FLAT SLAB TOP	1 ea.	\$750.00	\$750.00	\$750.00			\$700.00		\$685.00	\$800.00	\$800.00		\$685.00	\$1,000.00	\$1,000.00
	E TO BE MORTARED	67 ea.	\$75.00		\$70.00			\$4,690.00		\$4,556.00	\$65.00	\$4,355.00		\$4,690.00	\$100.00	\$6,700.00
	R LOOP, TYPE I	200 l.f.	\$17.00	\$3,400.00	\$26.00			\$3,600.00		\$3,450.00	\$19.00	\$3,800.00		\$3,450.00	\$18.00	\$3,600.00
	CONTROL AND PROTECTION, SPECIAL	1 l.s.	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00		\$80,000.00		\$20,000.00		\$23,000.00			\$19,750.00	\$19,750.00
	PLASTIC PAVEMENT MARKING- LETTERS & SYMBOLS	73 s.f.	\$5.00	\$365.00	\$5.00		\$5.00	\$365.00		\$292.00	\$5.70	\$416.10	\$7.50	\$547.50	\$7.50	\$547.50
	PLASTIC PAVEMENT MARKING- LINE 4"	70 l.f.	\$0.85		\$0.83			\$70.00		\$56.00		\$63.00		\$350.00	\$5.00	\$350.00
	PLASTIC PAVEMENT MARKING- LINE 6"	3580 l.f.	\$1.30		\$1.25			\$5,370.00		\$4,654.00		\$4,654.00		\$3,580.00	\$1.00	\$3,580.00
45 THERMOP	PLASTIC PAVEMENT MARKING- LINE 24"	115 l.f.	\$5.10	\$586.50	\$5.00	\$575.00	\$5.25	\$603.75	\$5.00	\$575.00	\$5.70	\$655.50	\$7.50	\$862.50	\$7.50	\$862.50
		TOTAL PROPO	OSAL	\$2,506,444.00		\$2,391,748.00		\$2,654,852.55		\$2,545,101.00		\$2,361,649.90		\$3,077,777.77		\$2,462,877.40

2013 Road Improvement Program - Tabulation of Proposals

Section:	ity or Road District: ORLAND PARK- DISTRICT ONE \$2,543,197.10	Time: 11: Approprio			and Address of dders	23343 S R	r Const., LLC Ridge Road IL 60421	6160 Ea	cktop Co. Inc. st Avenue e, IL 60525		ard Asphalt Inc. 19th Street, dge, IL 60415	1488 S.	truction, Inc. Broadway, ty, IL 60416	Gallagher As 18100 S. Indi Thornton,	ana Avenue		tion Corporation ain Street IL 60439	P.O. B	o Const. Co. Box 156 IL 60434
Proposal G	Guarantee	Michael	aby. Not Applicable	Approve	ed Engineer's														
Terms					timate														
Item #	ltem	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	19350		\$4.25	\$82,237.50	\$4.75	\$91,912.50	\$4.00	\$77,400.00	\$4.00	\$77,400.00	\$4.65	\$89,977.50	\$4.05	\$78,367.50	\$5.20	\$100,620.00	\$4.00	\$77,400.0
	PORTLAND CEMENT CONCRETE PATH 5 INCH SIDEWALK REMOVAL	4200 17300		\$4.75 \$1.20	\$19,950.00 \$20,760.00	\$8.75 \$2.50	\$36,750.00 \$43,250.00	\$4.80 \$1.60	\$20,160.00 \$27,680.00	\$4.80 \$0.80	\$20,160.00 \$13,840.00	\$4.85 \$1.40	\$20,370.00 \$24,220.00	\$4.85 \$1.62	\$20,370.00 \$28.026.00	\$5.50 \$3.75	\$23,100.00 \$64,875.00	\$4.80	\$20,160.0 \$27,680.0
	DETECTABLE WARNINGS	816		\$25.00	\$20,400.00	\$20.00	\$16,320.00	\$35.00	\$28,560.00	\$35.00	\$28,560.00	\$22.00	\$17,952.00	\$35.35	\$28,845.60	\$23.00	\$18,768.00	\$35.00	\$28,560.0
	COMBINATION CONCRETE CURB AND GUTTER, TYPE M-	9450		\$18.00	\$170,100.00	\$25.00	\$236,250.00	\$14.25	\$134,662.50	\$14.25	\$134,662.50	\$15.60	\$147,420.00	\$14.40	\$136,080.00	\$16.00	\$151,200.00	\$19.00	\$179,550.0
	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.1	12 320 18 60		\$19.00 \$25.00	\$6,080.00 \$1,500.00	\$25.00 \$27.00	\$8,000.00 \$1,620.00	\$15.75 \$16.75	\$5,040.00 \$1,005.00	\$15.75 \$16.75	\$5,040.00 \$1,005.00	\$19.50 \$21.00	\$6,240.00 \$1,260.00	\$15.95 \$16.95	\$5,104.00 \$1,017.00	\$17.00 \$18.50	\$5,440.00 \$1,110.00	\$21.00 \$23.00	\$6,720.0 \$1,380.0
	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.1 COMBINATION CURB AND GUTTER REMOVAL	9810		\$6.00	\$1,500.00	\$27.00	\$98,100.00	\$10.50	\$103,005.00	\$5.00	\$49,050.00	\$6.00	\$58,860.00	\$8.60	\$84,366.00	\$6.50	\$63,765.00	\$8.50	\$83,385.0
	CONCRETE SLAB RAISING	4100		\$3.00	\$12,300.00	\$3.00	\$12,300.00	\$2.60	\$10,660.00	\$1.93	\$7,913.00	\$7.20	\$29,520.00	\$6.30	\$25,830.00	\$6.25	\$25,625.00	\$2.60	\$10,660.0
	SHOTCRETE CURB REPAIR	2300		\$28.00	\$64,400.00	\$30.00	\$69,000.00	\$28.75	\$66,125.00	\$28.75	\$66,125.00	\$31.00	\$71,300.00	\$29.00	\$66,700.00	\$29.00	\$66,700.00	\$28.75	\$66,125.0
	P.C.C. DRIVEWAY PAVEMENT, 6" REMOVE & REPLACE	750		\$6.50	\$4,875.00	\$7.50	\$5,625.00	\$6.00	\$4,500.00	\$6.50	\$4,875.00	\$6.50	\$4,875.00	\$6.05	\$4,537.50	\$10.00	\$7,500.00	\$6.00	\$4,500.0
	H.M.A. DRIVEWAY PAVEMENT,3" REMOVE & REPLACE PAVING BRICK DRIVEWAY REPAIR	250	s.y.	\$35.00 \$75.00	\$8,750.00 \$9,000.00	\$35.00 \$22.00	\$8,750.00 \$2,640.00	\$50.00 \$63.00	\$12,500.00 \$7,560.00	\$35.00 \$10.00	\$8,750.00 \$1,200.00	\$30.00 \$150.00	\$7,500.00 \$18,000.00	\$58.25 \$227.25	\$14,562.50 \$27,270.00	\$50.00 \$68.00	\$12,500.00 \$8,160.00	\$48.00 \$135.00	\$12,000.0 \$16,200.0
	STAMPED COLORED P.C.C. DRIVEWAY REPAIR, 6"		s.f.	\$17.00	\$680.00	\$9.00	\$360.00	\$25.00	\$1,000.00	\$25.00	\$1,000.00	\$20.00	\$800.00	\$25.25	\$1,010.00	\$11.00	\$440.00	\$25.00	\$1,000.0
15	IMPRINTED HMA DRIVEWAY REPAIR	10	s.y.	\$300.00	\$3,000.00	\$28.00	\$280.00	\$310.00	\$3,100.00	\$150.00	\$1,500.00	\$400.00	\$4,000.00	\$252.75	\$2,527.50	\$150.00	\$1,500.00	\$325.00	\$3,250.0
	EARTH EXCAVATION	550		\$40.00	\$22,000.00	\$46.00	\$25,300.00	\$50.00	\$27,500.00	\$35.00	\$19,250.00	\$40.00	\$22,000.00	\$50.50	\$27,775.00	\$50.00	\$27,500.00	\$50.00	\$27,500.0
	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT HOT-MIX ASPHALT SURFACE REMOVAL. 1 3/4"	20000		\$8.00 \$2.30	\$6,400.00 \$46,000.00	\$15.00 \$1.50	\$12,000.00 \$30,000.00	\$1.50 \$1.40	\$1,200.00 \$28,000.00	\$5.00 \$1.75	\$4,000.00 \$35,000.00	\$8.00 \$1.50	\$6,400.00 \$30,000.00	\$9.30 \$1.45	\$7,440.00 \$29,000.00	\$15.00 \$1.85	\$12,000.00 \$37,000.00	\$10.00 \$1.85	\$8,000.0 \$37,000.0
	HOT-MIX ASPHALT SURFACE REMOVAL, 1 3/4 HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/2" PATH	550		\$4.50	\$2,475.00	\$1.50	\$8,800.00	\$4.75	\$2,612.50	\$3.00	\$1,650.00	\$5.80	\$3,190.00	\$10.10	\$5,555.00	\$9.00	\$4,950.00	\$7.20	\$37,000.0
	HOT-MIX ASPHALT SURFACE REMOVAL, 4 1/2"	30800	s.y.	\$7.00	\$215,600.00	\$4.00	\$123,200.00	\$3.15	\$97,020.00	\$3.50	\$107,800.00	\$3.30	\$101,640.00	\$3.25	\$100,100.00	\$4.00	\$123,200.00	\$4.00	\$123,200.0
	HOT-MIX ASPHALT SURFACE REMOVAL, EDGE MILL	12100		\$2.00	\$24,200.00	\$2.25	\$27,225.00	\$1.15	\$13,915.00	\$1.50	\$18,150.00	\$1.20	\$14,520.00	\$1.12	\$13,552.00	\$1.15	\$13,915.00	\$1.90	\$22,990.0
	BITUMINOUS MATERIALS (PRIME COAT) AGGREGATE (PRIME COAT)	4530 6250		\$1.00 \$1.00	\$4,530.00 \$6,250.00	\$0.01 \$0.01	\$45.30 \$62.50	\$2.00 \$2.00	\$9,060.00 \$12,500.00	\$0.01 \$0.01	\$45.30 \$62.50	\$0.01 \$0.01	\$45.30 \$62.50	\$0.01 \$0.01	\$45.30 \$62.50	\$0.01 \$0.01	\$45.30 \$62.50	\$0.01 \$0.01	\$45.3 \$62.5
	CLASS C PATCHES- TYPE 1, 9 INCH		s.y.	\$80.00	\$1,600.00	\$95.00	\$1,900.00	\$140.00	\$2,800.00	\$100.00	\$2,000.00	\$100.00	\$2,000.00	\$141.50	\$2,830.00	\$75.00	\$1,500.00	\$140.00	\$2,800.0
25	CLASS D PATCHES- VARIOUS TYPES	1373	ton	\$120.00	\$164,760.00	\$103.00	\$141,419.00	\$105.00	\$144,165.00	\$100.00	\$137,300.00	\$100.00	\$137,300.00	\$151.25	\$207,666.25	\$110.00	\$151,030.00	\$138.00	\$189,474.0
	CLASS D PATCHES- VARIOUS TYPES- OFFSITE		ton	\$145.00	\$145,000.00	\$112.00	\$112,000.00	\$135.00	\$135,000.00	\$130.00	\$130,000.00	\$110.00	\$110,000.00	\$215.50	\$215,500.00	\$142.00	\$142,000.00	\$164.00	\$164,000.0
	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS		ton	\$400.00	\$1,600.00	\$325.00	\$1,300.00	\$900.00	\$3,600.00	\$100.00	\$400.00	\$400.00	\$1,600.00	\$687.00	\$2,748.00	\$250.00	\$1,000.00	\$750.00	\$3,000.0
	AGGREGATE BASE COURSE, TYPE B PREPARATION OF BASE	2800	ton	\$25.00 \$10.00	\$7,000.00 \$28,000.00	\$44.00 \$1.00	\$12,320.00 \$2,800.00	\$20.00 \$1.90	\$5,600.00 \$5,320.00	\$20.00 \$2.00	\$5,600.00 \$5,600.00	\$35.00 \$1.00	\$9,800.00 \$2,800.00	\$20.20 \$1.14	\$5,656.00 \$3,192.00	\$13.00 \$2.50	\$3,640.00 \$7,000.00	\$20.00 \$2.00	\$5,600.0 \$5,600.0
	AGGREGATE BASE REPAIR		ton	\$30.00	\$6,000.00	\$15.00	\$3,000.00	\$12.50	\$2,500.00	\$30.00	\$6,000.00	\$25.00	\$5,000.00	\$13.75	\$2,750.00	\$14.00	\$2,800.00	\$21.00	\$4,200.0
	AGGREGATE FOR TEMPORARY ACCESS		ton	\$40.00	\$8,400.00	\$15.00	\$3,150.00	\$30.00	\$6,300.00	\$20.00	\$4,200.00	\$25.00	\$5,250.00	\$36.75	\$7,717.50	\$29.00	\$6,090.00	\$50.00	\$10,500.0
	TRENCH BACKFILL, CA-6		ton	\$18.00	\$9,360.00	\$20.00	\$10,400.00	\$26.40	\$13,728.00	\$20.00	\$10,400.00	\$20.00	\$10,400.00	\$26.70	\$13,884.00	\$27.00	\$14,040.00	\$26.00	\$13,520.0
	TRENCH BACKFILL, CA-7 PAVEMENT FABRIC (SPECIAL)	2100	ton	\$19.00 \$3.00	\$9,690.00 \$6,300.00	\$24.00 \$4.50	\$12,240.00 \$9,450.00	\$29.15 \$1.00	\$14,866.50 \$2,100.00	\$29.15 \$1.00	\$14,866.50 \$2,100.00	\$23.00 \$3.00	\$11,730.00 \$6,300.00	\$29.45 \$1.00	\$15,019.50 \$2,100.00	\$30.00 \$1.50	\$15,300.00 \$3,150.00	\$31.00 \$1.00	\$15,810.0 \$2,100.0
	PORTLAND CEMENT CONCRETE INLAY, 4 1/2"	2100		\$23.00	\$48,300.00	\$27.00	\$56,700.00	\$28.50	\$59,850.00	\$28.50	\$59,850.00	\$13.00	\$27,300.00	\$28.80	\$60,480.00	\$26.00	\$54,600.00	\$28.50	\$59,850.0
	PORTLAND CEMENT CONCRETE INLAY, FURNISHED	300		\$110.00	\$33,000.00	\$105.00	\$31,500.00	\$110.00	\$33,000.00	\$110.00	\$33,000.00	\$120.00	\$36,000.00	\$111.10	\$33,330.00	\$75.00	\$22,500.00	\$110.00	\$33,000.0
	PROTECTIVE COAT	2100		\$1.00	\$2,100.00	\$1.50	\$3,150.00	\$0.50	\$1,050.00	\$0.50	\$1,050.00	\$1.00	\$2,100.00	\$0.50	\$1,050.00	\$7.50	\$15,750.00	\$0.50	\$1,050.0
	POLYMERIZED LEVELING BINDER (MACHINE METHOD),		ton	\$96.00	\$178,560.00	\$90.00	\$167,400.00	\$87.00	\$161,820.00	\$90.00	\$167,400.00	\$65.50	\$121,830.00	\$84.50	\$157,170.00	\$83.00	\$154,380.00	\$90.00	\$167,400.0
	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50 HOT-MIX ASPHALT SURFACE COURSE, MIX "C", N50	5100	ton	\$68.00 \$70.00	\$346,800.00 \$510,300.00	\$61.00 \$67.00	\$311,100.00 \$488,430.00	\$53.00 \$65.00	\$270,300.00 \$473,850.00	\$58.00 \$69.00	\$295,800.00 \$503,010.00	\$56.00 \$60.60	\$285,600.00 \$441,774.00	\$62.00 \$72.75	\$316,200.00 \$530,347.50	\$63.50 \$68.00	\$323,850.00 \$495,720.00	\$57.50 \$64.00	\$293,250.0 \$466,560.0
	STRIP REFLECTIVE CRACK CONTROL TREATMENT	650		\$2.00	\$1,300.00	\$10.00	\$6,500.00	\$3.25	\$2,112.50	\$2.00	\$1,300.00	\$2.00	\$1,300.00	\$2.25	\$1,462.50	\$1.00	\$650.00	\$2.50	\$1,625.0
42	SEEDING, CLASS 1A (& TOPSOIL)	1500	s.y.	\$4.50	\$6,750.00	\$1.00	\$1,500.00	\$1.50	\$2,250.00	\$4.00	\$6,000.00	\$5.00	\$7,500.00	\$7.60	\$11,400.00	\$6.00	\$9,000.00	\$5.00	\$7,500.0
	EROSION CONTROL BLANKET	1520		\$2.00	\$3,040.00	\$1.20	\$1,824.00	\$2.50	\$3,800.00	\$3.00	\$4,560.00	\$2.00	\$3,040.00	\$1.80	\$2,736.00	\$1.70	\$2,584.00	\$0.65	\$988.0
	SODDING (& TOPSOIL) TEMPORARY FENCE	1650	1 / .	\$9.00 \$5.00	\$14,850.00 \$1,000.00	\$14.00 \$3.00	\$23,100.00 \$600.00	\$7.00 \$5.00	\$11,550.00 \$1,000.00	\$9.75 \$6.00	\$16,087.50 \$1,200.00	\$6.00 \$6.00	\$9,900.00 \$1,200.00	\$14.65 \$16.70	\$24,172.50 \$3,340.00	\$9.00 \$3.25	\$14,850.00 \$650.00	\$8.00 \$5.00	\$13,200.0 \$1,000.0
	PIPE UNDERDRAINS, PERFORATED PVC 6"	2450		\$17.20	\$42,140.00	\$17.00	\$41,650.00	\$14.50	\$35,525.00	\$14.50	\$35,525.00	\$20.00	\$49,000.00	\$16.70	\$35,892.50	\$14.50	\$35,525.00		\$53,900.0
47	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1, 10"RCI	P 1875	l.f.	\$20.00	\$37,500.00	\$35.00	\$65,625.00	\$25.00	\$46,875.00	\$25.10	\$47,062.50	\$38.00	\$71,250.00	\$25.35	\$47,531.25	\$25.10	\$47,062.50	\$32.00	\$60,000.
	CATCH BASINS, TYPE C, FRAME & LID		ea.	\$800.00	\$10,400.00	\$1,100.00	\$14,300.00	\$915.00	\$11,895.00	\$915.00	\$11,895.00	\$1,500.00	\$19,500.00	\$924.25	\$12,015.25	\$915.00	\$11,895.00		\$16,250.0
	FRAMES AND LIDS TO BE ADJUSTED (STEEL RING) MANHOLE/INLET TO BE ADJUSTED		ea.	\$170.00 \$315.00	\$680.00 \$6,930.00	\$375.00 \$325.00	\$1,500.00 \$7,150.00	\$230.00 \$310.00	\$920.00 \$6,820.00	\$200.00 \$307.00	\$800.00 \$6,754.00	\$200.00 \$300.00	\$800.00	\$232.30 \$310.10	\$929.20 \$6,822.20	\$230.00 \$310.00	\$920.00 \$6,820.00		\$800.0 \$9,350.0
	RECONSTRUCT MANHOLE, BLOCK		ea.	\$700.00	\$6,300.00	\$700.00	\$6,300.00	\$610.00	\$5,490.00	\$610.00	\$5,490.00	\$950.00	\$8,550.00	\$616.20	\$5,545.80	\$610.00	\$5,490.00		\$7,200.0
52	RECONSTRUCT MANHOLE, CONE SECTION	1	ea.	\$850.00	\$850.00	\$800.00	\$800.00	\$700.00	\$700.00	\$685.00	\$685.00	\$1,000.00	\$1,000.00	\$692.00	\$692.00	\$685.00	\$685.00		\$1,000.0
	RECONSTRUCT MANHOLE, FLAT SLAB TOP		ea.	\$850.00	\$850.00	\$750.00	\$750.00	\$700.00	\$700.00	\$685.00	\$685.00	\$1,000.00	\$1,000.00	\$692.00	\$692.00	\$685.00	\$685.00	\$1,000.00	\$1,000.0
	RE-MORTAR STRUCTURE ROADWAY LIGHT		ea.	\$90.00 \$6,800.00	\$5,220.00 \$54,400.00	\$100.00 \$6,000.00	\$5,800.00 \$48,000.00	\$65.00 \$5,000.00	\$3,770.00 \$40,000.00	\$65.00 \$4,000.00	\$3,770.00 \$32,000.00	\$100.00 \$6,200.00	\$5,800.00	\$65.70 \$5,200.00	\$3,810.60 \$41,600.00	\$65.00 \$6,400.00	\$3,770.00	\$150.00 \$4,520.00	\$8,700.0
	UNIT DUCT, 600V, 2-1C NO.6, 1 1/2" DIA. POLYETHLENE	800		\$6,800.00	\$54,400.00	\$6,000.00	\$48,000.00	\$5,000.00	\$40,000.00	\$4,000.00	\$32,000.00	\$6,200.00	\$49,600.00 \$13,600.00	\$5,200.00	\$41,600.00	\$6,400.00	\$51,200.00 \$12,800.00	\$4,520.00	\$36,160.0 \$9,096.0
	DETECTOR LOOP, TYPE III	400		\$15.00	\$6,000.00	\$26.00	\$10,400.00	\$25.50	\$10,200.00	\$26.00	\$10,400.00	\$33.00	\$13,200.00	\$10.30	\$4,120.00	\$31.00	\$12,400.00		\$10,400.0
	TRAFFIC CONTROL AND PROTECTION, 143RD STREET		l.s.	\$15,000.00	\$15,000.00	\$14,000.00	\$14,000.00	\$17,000.00	\$17,000.00	\$3,500.00	\$3,500.00	\$2,000.00	\$2,000.00	\$18,029.71	\$18,029.71	\$9,800.00	\$9,800.00		\$18,000.0
	THERMOPLASTIC PAVEMENT MARKING- LETTERS & SYMBO		s.f.	\$5.00	\$365.00	\$5.00	\$365.00	\$4.75	\$346.75	\$4.75	\$346.75	\$5.00	\$365.00	\$5.05	\$368.65	\$5.00	\$365.00	\$4.98	\$363.5
	THERMOPLASTIC PAVEMENT MARKING- LINE 4" THERMOPLASTIC PAVEMENT MARKING- LINE 6"	800 1920		\$0.70 \$1.10	\$560.00 \$2,112.00	\$0.83 \$1.25	\$664.00 \$2,400.00	\$0.85 \$1.25	\$680.00 \$2,400.00	\$0.83 \$1.25	\$664.00 \$2,400.00	\$1.30 \$1.85	\$1,040.00 \$3,552.00	\$0.85 \$1.26	\$680.00 \$2,419.20	\$0.85 \$1.25	\$680.00 \$2,400.00		\$664.0 \$2,400.0
	THERMOPLASTIC PAVEMENT MARKING- LINE 8 THERMOPLASTIC PAVEMENT MARKING- LINE 24"	500		\$1.10	\$2,200.00	\$4.98	\$2,490.00	\$5.00	\$2,500.00	\$5.00	\$2,500.00	\$5.00	\$2,500.00	\$5.05	\$2,419.20		\$2,500.00		\$2,400.0
63	EPOXY PAVEMENT MARKING- LETTERS & SYMBOLS	73	s.f.	\$4.50	\$328.50	\$9.00	\$657.00	\$5.00	\$365.00	\$5.00	\$365.00	\$8.00	\$584.00	\$9.10	\$664.30	\$9.00	\$657.00	\$9.00	\$657.0
	EPOXY PAVEMENT MARKING- LINE 4"	760		\$0.60	\$456.00	\$1.50	\$1,140.00	\$4.00	\$3,040.00	\$4.00	\$3,040.00	\$1.50	\$1,140.00	\$1.52	\$1,155.20	\$1.50	\$1,140.00		\$1,140.0
	EPOXY PAVEMENT MARKING- LINE 6"	360		\$0.90	\$324.00	\$2.25	\$810.00	\$6.00	\$2,160.00	\$6.00	\$2,160.00	\$2.25	\$810.00	\$2.30	\$828.00		\$810.00		\$810.0
66	EPOXY PAVEMENT MARKING- LINE 24"	35	l.f.	\$3.60	\$126.00	\$9.00	\$315.00	\$24.00	\$840.00	\$24.00	\$840.00	\$10.00	\$350.00	\$9.10	\$318.50	\$9.00	\$315.00	\$9.00	\$315.
			TOTAL BID AS READ	Т	\$2,543,199.00		\$2,498,289.30		\$2,254,513.75		\$2,196,842.60		\$2,172,117.30		\$2,522,522.00	I	\$2,419,976.50		\$2,464,050.
			AS CORRECTE																

2013 Road Improvement Program - Proposal/Proposer Evaluation

	Austin Tyler Const., LLC 23343 S Ridge Road Elwood, IL 60421	Central Blacktop Co. Inc. 6160 East Avenue LaGrange, IL 60525	Crowley-Sheppard Asphalt Inc. 6525 W. 99th Street, Chicago Ridge, IL 60415	D. Construction, Inc. 1488 S. Broadway, Coal City, IL 60416	Gallagher Asphalt Corp. 18100 S. Indiana Avenue Thornton, IL 60476	K-Five Construction Corporation 13769 Main Street Lemont, IL 60439	P.T. Ferro Const. Co. P.O. Box 156 Joliet, IL 60434
Price	2	3	4	5	1	2	2
Vendor Qualifications	5	5	5	5	5	5	5
Financial Responsibility	5	3	5	2	3	3	3
Responsiveness to the Specifications	5	5	5	5	4	5	5
Past Experience with Proposer	4	3	4	2	4	4	4

21 23 19 19 19 17 19

Ratings: 1 Point = Poor

2 Point = Fair

3 Point = Neutral, No recent experience 4 Point = Good

5 Point = Positve/ Excellent

Item#	Item	Average
	1 PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	\$4.38
	2 PORTLAND CEMENT CONCRETE PATH 5 INCH	\$5.48
	3 SIDEWALK REMOVAL	\$1.90
	4 DETECTABLE WARNINGS	\$29.34
	5 COMBINATION CONCRETE CURB AND GUTTER, TYPE M-2.12	\$16.93
	6 COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	\$18.56
	7 COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.18	\$19.99
	8 COMBINATION CURB AND GUTTER REMOVAL	\$7.87
	9 CONCRETE SLAB RAISING	\$4.27
1	0 SHOTCRETE CURB REPAIR	\$29.32
1	1 P.C.C. DRIVEWAY PAVEMENT, 6" REMOVE & REPLACE	\$6.94
1	2 H.M.A. DRIVEWAY PAVEMENT,3" REMOVE & REPLACE	\$43.75
1	3 PAVING BRICK DRIVEWAY REPAIR	\$96.46
1	4 STAMPED COLORED P.C.C. DRIVEWAY REPAIR, 6"	\$20.04
1	5 IMPRINTED HMA DRIVEWAY REPAIR	\$230.82
1	6 EARTH EXCAVATION	\$45.93
1	7 HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	\$9.11
1	8 HOT-MIX ASPHALT SURFACE REMOVAL, 1 3/4"	\$1.61
1	9 HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/2" PATH	\$7.98
	20 hot-mix asphalt surface removal, 4 1/2"	\$3.60
	1 HOT-MIX ASPHALT SURFACE REMOVAL, EDGE MILL	\$1.47
	22 BITUMINOUS MATERIALS (PRIME COAT)	\$0.29
2	23 AGGREGATE (PRIME COAT)	\$0.29
	24 CLASS C PATCHES- TYPE 1, 9 INCH	\$113.07
2	25 CLASS D PATCHES- VARIOUS TYPES	\$115.32
2	26 CLASS D PATCHES- VARIOUS TYPES- OFFSITE	\$144.07
2	7 MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	\$487.43
2	28 AGGREGATE BASE COURSE, TYPE B	\$24.60
2	29 PREPARATION OF BASE	\$1.65
3	30 AGGREGATE BASE REPAIR	\$18.75
3	31 AGGREGATE FOR TEMPORARY ACCESS	\$29.39
3	32 TRENCH BACKFILL, CA-6	\$23.73
3	33 TRENCH BACKFILL, CA-7	\$27.96
3	34 PAVEMENT FABRIC (SPECIAL)	\$1.86
3	35 PORTLAND CEMENT CONCRETE INLAY, 4 1/2"	\$25.76
3	36 PORTLAND CEMENT CONCRETE INLAY, FURNISHED	\$105.87
3	37 PROTECTIVE COAT	\$1.71
3	88 POLYMERIZED LEVELING BINDER (MACHINE METHOD), N50	\$84.29
	39 HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	\$58.71
4	10 HOT-MIX ASPHALT SURFACE COURSE, MIX "C", N50	\$66.62
4	11 STRIP REFLECTIVE CRACK CONTROL TREATMENT	\$3.29
	2 SEEDING, CLASS 1A (& TOPSOIL)	\$4.30
	13 EROSION CONTROL BLANKET	\$1.84

44 SODDING (& TOPSOIL)	\$9.77
45 TEMPORARY FENCE	\$6.42
46 PIPE UNDERDRAINS, PERFORATED PVC 6"	\$16.74
47 STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1, 10"RCP	\$29.36
48 CATCH BASINS, TYPE C, FRAME & LID	\$1,074.18
49 FRAMES AND LIDS TO BE ADJUSTED (STEEL RING)	\$238.19
50 MANHOLE/INLET TO BE ADJUSTED	\$326.73
51 RECONSTRUCT MANHOLE, BLOCK	\$699.46
52 RECONSTRUCT MANHOLE, CONE SECTION	\$794.57
53 RECONSTRUCT MANHOLE, FLAT SLAB TOP	\$787.43
54 RE-MORTAR STRUCTURE	\$87.24
55 ROADWAY LIGHT	\$5,331.43
56 UNIT DUCT, 600V, 2-1C NO.6, 1 1/2" DIA. POLYETHLENE	\$13.98
57 DETECTOR LOOP, TYPE III	\$25.40
58 TRAFFIC CONTROL AND PROTECTION, 143RD STREET	#######
59 THERMOPLASTIC PAVEMENT MARKING- LETTERS & SYMBOLS	\$4.93
60 THERMOPLASTIC PAVEMENT MARKING- LINE 4"	\$0.91
61 THERMOPLASTIC PAVEMENT MARKING- LINE 6"	\$1.34
62 THERMOPLASTIC PAVEMENT MARKING- LINE 24"	\$5.00
63 EPOXY PAVEMENT MARKING- LETTERS & SYMBOLS	\$7.73
64 EPOXY PAVEMENT MARKING- LINE 4"	\$2.22
65 EPOXY PAVEMENT MARKING- LINE 6"	\$3.33
66 EPOXY PAVEMENT MARKING- LINE 24"	\$13.44

Median	Lowest	Quantity	Unit
\$4.05	\$4.00	19350	
\$4.85	\$4.80	4200	
\$1.60	\$0.80	17300	
\$35.00	\$20.00	816	
\$15.60	\$14.25	9450	
\$17.00	\$15.75	320	
\$18.50	\$16.75	60	
\$8.50	\$5.00	9810	
\$3.00	\$1.93	4100	
\$29.00	\$28.75	2300	
\$6.50	\$6.00	750	
\$48.00	\$30.00	250	
\$68.00	\$10.00	120	
\$25.00	\$9.00		s.f.
\$252.75	\$28.00		s.y.
\$50.00	\$35.00		c.y.
\$9.30	\$1.50	800	
\$1.50	\$1.40	20000	
\$7.20	\$3.00	550	
\$3.50	\$3.15	30800	
\$1.20	\$1.12	12100	
\$0.01	\$0.01	4530	
\$0.01	\$0.01	6250	
\$100.00	\$75.00	20	s.y.
\$105.00	\$100.00	1373	
\$135.00	\$110.00	1000	ton
\$400.00	\$100.00	4	ton
\$20.00	\$13.00	280	ton
\$1.90	\$1.00	2800	s.y.
\$15.00	\$12.50	200	ton
\$29.00	\$15.00	210	ton
\$26.00	\$20.00	520	ton
\$29.15	\$23.00	510	ton
\$1.00	\$1.00	2100	s.y.
\$28.50	\$13.00	2100	s.y.
\$110.00	\$75.00	300	C.y.
\$0.50	\$0.50	2100	s.y.
\$87.00	\$65.50	1860	ton
\$58.00	\$53.00	5100	ton
\$67.00	\$60.60	7290	ton
\$2.25	\$1.00	650	
\$5.00	\$1.00	1500	•
\$1.80	\$0.65	1520	s.y.

\$9.00	\$6.00	1650 s.y.
\$5.00	\$3.00	200 l.f.
\$14.65	\$14.50	2450 l.f.
\$25.35	\$25.00	1875 l.f.
\$924.25	\$915.00	13 ea.
\$230.00	\$200.00	4 ea.
\$310.00	\$300.00	22 ea.
\$616.20	\$610.00	9 ea.
\$700.00	\$685.00	1 ea.
\$700.00	\$685.00	1 ea.
\$65.70	\$65.00	58 ea.
\$5,200.00	\$4,000.00	8 ea.
\$14.00	\$8.80	800 l.f.
\$26.00	\$10.30	400 l.f.
#######	\$2,000.00	1 l.s.
\$5.00	\$4.75	73 s.f.
\$0.85	\$0.83	800 l.f.
\$1.25	\$1.25	1920 l.f.
\$5.00	\$4.98	500 l.f.
\$9.00	\$5.00	73 s.f.
\$1.50	\$1.50	760 l.f.
\$2.25	\$2.25	360 l.f.
\$9.10	\$9.00	35 l.f.